spring.

P Example 6.9 Consider Example 6.8 taking
the coefficient of friction, n, to be 0.5 and
calculate the maximum compression of the
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p Example 6.12 Slowing down of neutrons:
In a nuclear reactor a neutron of high
speed (typically 107 m s!) must be slowed

t so that it can have a high | 4.

probability of interacting with isotope *3>U
and causing it to fission. Show that a
neutron can lose most of its kKinetic energy @
in an elastic collision with a light nuclei
like deuterium or carbon which has a mass
of only a few times the neutron mass. The
material making up the light nuclei, usually
heavy water (D,O) or graphite, is called a
moderator.
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